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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them.

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition.

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared.
First period: 15 tossups
TOSSUP 1
MATH

THIS IS A COMPUTATION QUESTION. How much money is 9 quarters, 5 dimes, 3 nickels, and 92 pennies?

ANSWER: $3.82
TOSSUP 2
SOCIAL STUDIES

The legend associated with her has several flaws: the town of Coventry wasn’t founded until 1043, and the only known tax levied on its residents at the time was a small tax on horses. Peeping Tom is associated with what woman whose husband Leofric (lee-ah-frik), the Earl of Mercia, told her to ride her horse while unclothed?

ANSWER: Lady Godiva
TOSSUP 3
MATH

THIS IS A COMPUTATION QUESTION. What is the cosine of 240 degrees?

ANSWER: -.5 or –1/2
TOSSUP 4
SCIENCE

John Glenn and Gus Grissom were two of the finalists for this mission, originally designated Mercury-Redstone 3.  Its flight lasted only 15 minutes, reaching a height of 116 miles.  Nikita Khruschev called it a ‘flea hop.’ Its capsule is now on display at the US Naval Academy. What was piloted by Alan Shepherd?

ANSWER: Freedom 7
TOSSUP 5
SCIENCE

There are about 20,000 species of them and they make up the division Pteridophyta (tay-rih-doh-fye-tuh). They differ from other vascular plants in that their gametophytes (gah-mee-toh-fites) are free-living organisms.  Their leaves are usually called fronds.  Name this type of seedless plant that reproduces by spores.

ANSWER: fern
TOSSUP 6
LITERATURE

The title character begins by escaping from his drunkard father, but misses his target of Cairo (kay-roh), Illinois, and keeps heading down the Mississippi. He becomes part of the ‘Royal Nonesuch’ con game, meets the Grangerfords and Shepherdsons, and helps obtain the freedom of his friend, Jim. This is the plot of what novel by Mark Twain?

ANSWER: (The) Adventures of Huckleberry Finn
TOSSUP 7
MATH

THIS IS A COMPUTATION QUESTION. What is the value of 7 factorial, given that it is equal to 1 times 2 times 3 times 4 times 5 times 6 times 7, and that 6 factorial is equal to 720?

ANSWER: 5040

TOSSUP 8
LITERATURE

He cannot pay three thousand ducats after his ships are lost at sea. He is saved by the diligence of his lawyer Balthasar, who is his friend’s wife, Portia, in disguse. It turns out blood was not covered. A pound of flesh is the collateral pledged by what character in The Merchant of Venice, who takes out a loan from Shylock to help his friend Bassanio?

ANSWER: Antonio (prompt on ‘the Merchant of Venice’)
TOSSUP 9
LANGUAGE ARTS

If a Spanish speaker were to refer to la pierna (lah pee-ayr-nah), to what part of the body is he or she referring?

ANSWER: the leg(s)

TOSSUP 10
SOCIAL STUDIES

This political party is the descendant of the ‘Clear Grits’ reform movement that existed before the Confederation of 1867. In 1984, there was fear the New Democrats would force them into third-party status. After the 1990 collapse of the Progressive Conservatives, what political party returned to power for 16 years in Canada?

ANSWER: Liberal Party of Canada

TOSSUP 11
LITERATURE

He is the only known sufferer of Garnett-Fleischaker syndrome and signs letters Albert T. Tappman. He is offered a deal by Colonel Cathcart and Colonel Korn when the disappearance of Orr to Sweden and death of Snowden cause him to stop flying missions. Milo Minderbinder is a friend of what main character in Joseph Heller’s Catch-22?

ANSWER: John Yossarian
TOSSUP 12
SCIENCE

Polarizing ones include Nicol and Glan-Taylor; reflective ones include Porro and Dichroic (dye-kroik); and dispersive ones include Amici (ah-mee-chee) and Triangular.  Isaac Newton used them to separate colors.  What transparent optical element that often refracts light appears on the cover of Pink Floyd’s album The Dark Side of the Moon?

ANSWER: prism
TOSSUP 13
MISCELLANEOUS

In 2005, this royal married the current Duchess of Cornwall, 8 years after the death of his first wife, the Princess of Wales.  Who is this man, known in the United Kingdom as the Prince of Wales, and the once-husband of Diana Spencer?

ANSWER: (Prince) Charles Windsor

TOSSUP 14
SOCIAL STUDIES

The ‘naked’ type of this activity does not involve a ‘locate,’ which involves making sure the security can be borrowed, as the SEC requires. Risks include a ‘squeeze,’ which occurs when the price of a stock goes up sharply. What activity involves selling a stock or security you do not own, and means the investor profits when the price goes down?

ANSWER: short selling (accept ‘sales’ and other words in place of ‘selling’)

TOSSUP 15
FINE ARTS

He illustrated Erasmus’ The Praise of Folly and Martin Luther’s Bible translation. After he made the woodcut series Dance of Death, he went to England, where he became even more famous, and not just for The Ambassadors. Thomas More, Anne of Cleves, Catherine Howard, and Henry VIII were the subjects of what artist’s portraits?

ANSWER: Hans Holbein (hole-bine) the Younger (don’t accept ‘the Elder’)

Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
MATH

In schematics, it is shown as what is called a military symbol with two leads and one output. It can be built using two switches in parallel, which creates the main feature. Name this logic gate that states a 1 if one or more of the input switches is on.

ANSWER: OR Gate
BONUS 16
LANGUAGE ARTS

Identify these words from clues.

1.
What word referring to ‘two weeks’ comes to us from a contraction of an Old English word meaning ‘fourteen nights’?

ANSWER: fortnight(s)

2.
This word comes to us from a Yiddish word meaning ‘little ring’ and refers to a bread product that can be topped with cream cheese or smoked salmon.

ANSWER: bagel(s)

3.
What word for an alter-ego comes to us from German words meaning ‘double’ and ‘goer’?

ANSWER: doppelganger

4.
It comes to us from an Afrikaans word meaning ‘a group of raiders’ and today refers to an elite soldier.

ANSWER: commando(s)

TOSSUP 17
SOCIAL STUDIES

Her oldest daughter married the German ruler, Friedrich III. She was the first known carrier of hemophilia among European royalty. The unkind called her ‘Mrs. John Brown’ after the death of her husband, Prince Albert. The last ruler of the House of Hanover was what first Empress of India and ruler of the United Kingdom between 1837 and 1901?

ANSWER: Queen Victoria
BONUS 17
MATH

Consider the complex number 5 + 2i (read as: five plus two i).

1.
i is the square root of what number?

ANSWER: -1 (negative one)

2.
What is the conjugate of 5 + 2i?

ANSWER: 5 – 2i (read as: five minus two i)

3.
THIS IS A COMPUTATION QUESTION. What is the product of 5 + 2i and its conjugate?

ANSWER: 29

4.
THIS IS A COMPUTATION QUESTION. Divide 3 by the complex number 5 + 2i, remembering that the answer must not have an imaginary number in the denominator.

ANSWER: 15/29 + 6/29i (read as: fifteen twenty-ninths over six twenty-ninths i, or as: fifteen over twenty-nine plus six over twenty nine i) or (15+6i) / 29 (read as: the quantity fifteen plus six i divided by 29)

TOSSUP 18
LITERATURE

This author introduced the character of Winterbourne in Daisy Miller. He had Verena Tarrant marry Basil Ransom in The Bostonians. His characters Marie de Vionnet and Chad Newsome fall in love, and Lambert Strether is sent to break them up in The Ambassadors. Who created the character of Isabel Archer in The Portrait of a Lady?

ANSWER: Henry James
BONUS 18
SCIENCE

Answer these questions about common polyatomic ions. 

1.
The formula of carbonate.

ANSWER: CO3
2.
The charge of hydronium.

ANSWER: positive one or plus one (do not accept or prompt on ‘one’)

3.
The formula of sulfite.

ANSWER: SO3
4.
The charge of phosphate.

ANSWER: negative three or minus three 

TOSSUP 19
MISCELLANEOUS

It is bordered by Waveland Avenue on the north and Addison Street on the south. Its home team last played a World Series game here in 1945.  What stadium has a statue of announcer Harry Caray outside and has ivy covering its outfield wall, and is the home stadium for the Chicago Cubs?

ANSWER: Wrigley Field

BONUS 19
LITERATURE

Identify these women of world literature.

1.
Who is the Outer Party member Winston Smith has an affair with in 1984? 


ANSWER: Julia
2.
Who is the wife of Othello accused of adultery in Othello? 


ANSWER: Desdemona
3.
She is the daughter of Alexandre Manette in A Tale of Two Cities. 


ANSWER: Lucie Manette

4.
In The Three Musketeers, what wife of Athos works for Cardinal Richelieu?


ANSWER: Milady de Winter (accept Charlotte Brackson, Anne de Breuil, Comtesse de la Fère, the Baroness of Sheffield, or Milady Clarick)

TOSSUP 20
MATH

THIS IS A COMPUTATION QUESTION. Where are the major intercepts of the ellipse x squared over 36 plus y squared over 16 equals 1, given that the ellipse x squared over a squared plus y squared over b squared equals 1 has major intercepts at (a, 0) and (-a, 0)?

ANSWER: (6, 0) and (-6, 0)
BONUS 20
MISCELLANEOUS

The New York Yankees finished two games behind the Boston Red Sox in the American League East. Name any four of the other five second-place finishers in the 2007 baseball season. You can name either city or team nickname. 


ANSWER: Detroit Tigers; Seattle Mariners; New York Mets (prompt on ‘New York’); Milwaukee Brewers; and Colorado Rockies
TOSSUP 21
FINE ARTS

This work never was performed as planned at the largest Orthodox Church ever built. It wasn’t until 1990 that the Leningrad Philharmonic recorded it with the sixteen cannon shots placed exactly where Peter Tchaikovsky wanted. What piece, often played on July 4th, celebrates the Battle of Borodino and the failed French invasion of Russia?

ANSWER: ‘1812 Overture’

BONUS 21
SCIENCE

Given some mammals, name the order they are in.

1.
Dogs and cats.


ANSWER: Carnivora or carnivore(s)

2.
Chipmunks and gophers.
ANSWER: Rodentia or rodent(s)

3.
Bats.



ANSWER: Chioptera (kye-awp-teh-ruh)

4.
Elephants.


ANSWER: Proboscidea (proh-boh-sih-day-uh)

TOSSUP 22
SOCIAL STUDIES

He was the first chairman of the Securities and Exchange Commission. He was the Ambassador to the UK between 1938 and 1940. He joked that ‘no way he was paying for a landslide’ in the Presidential election won by his son. Who fathered nine children: a namesake son, Jean Ann, Patricia, Kathleen, Rosemary, Eunice, Robert, John, and Ted?

ANSWER: Joseph Kennedy, Sr. (prompt on ‘Kennedy’)

BONUS 22
LITERATURE

Identify these 20th century Black writers from works.

1.
The poems ‘Dream Deferred’ and ‘The Negro Speaks of Rivers.’


ANSWER: Langston Hughes
2.
The novel Roots.


ANSWER: Alex Haley
3.
The novel Their Eyes Were Watching God. 

ANSWER: Zora Neale Hurston
4.
The play A Raisin in the Sun.


ANSWER: Lorraine Hansberry
TOSSUP 23
LITERATURE

This poem begins, ‘Not like the brazen giant of Greek fame.’ It ends with, ‘Send these, the homeless, tempest-tost to me, / I lift my lamp beside the golden door!’ What poem by Emma Lazarus contains the lines, ‘Give me your tired, your poor, / your huddled masses yearning to breathe free,’ and is found on a plaque contained in the Statue of Liberty?

ANSWER: ‘The New Colossus’

BONUS 23
MATH

THIS IS A COMPUTATION QUESTION. Consider the number 350. Now:

1.
That number is 70 percent of what number?

ANSWER: 500

2.
What is the remainder when that number is divided by 6? 


ANSWER: two
3.
What is the prime factorization of that number?


ANSWER: 2, 5, 5, 7 (can be said in any order)

4.
What is 45 percent of that number?


ANSWER: 157.50
TOSSUP 24
SCIENCE

This term comes from the Greek for first most and was coined by Ernst Haeckel in 1866.  It is a paraphyletic grade and is composed of unicellular organisms or simple multicellular organisms.  Name this eukaryote kingdom that contains animal-like protozoa, plant-like algae, and fungus-like slime molds.

ANSWER: protist(s)

BONUS 24
SOCIAL STUDIES

Identify the ancient generals from clues.

1.
He conquered Gaul for the Roman Empire.


ANSWER: Julius Caesar
2.
He defeated the Romans at Cannae (kah-nye) but was unable to defend his hometown of Carthage.


ANSWER: Hannibal
3.
This King of Sparta held off Xerxes’ army for several days at the battle of Thermopylae (ther-maw-puh-lee).


ANSWER: Leonidas I

4.
He fought Julius Caesar after the death of Crassus, and his son Sextus fought Caesar’s son Octavian.


ANSWER: Pompey the Great or Gnaeus Pompeius Magnus

TOSSUP 25
SCIENCE

This rock is actually less soluble as the temperature of water increases.  It is used as a base for neutralizing acidic soil in the form of an oxide or hydroxide with calcium, and is quarried as a primary ingredient for cement.  What is this rock, common in architecture and also the primary component of structures like stalactites and stalagmites?

ANSWER: limestone
BONUS 25
SOCIAL STUDIES

Given a description of a House of Representatives committee, name the committee.

1.
This committee is in charge of determining how long the full House will debate a bill, and can bottle up undesirable bills.



ANSWER: Committee on Rules
2.
This powerful committee has oversight of taxation, tariffs, and all revenue-raising bills.


ANSWER: Committee on Ways and Means
3.
This committee consists of every single member of the House of Representatives.


ANSWER: Committee of the Whole
4.
Texas Democrat Silvestre Reyes (ray-yays) was the surprise choice to lead what only permanent committee that is not a standing committee? 


ANSWER: Permanent Select Committee on Intelligence
HALFTIME

Third period: 15 toss-ups
TOSSUP 26
SOCIAL STUDIES

Perception of this event is based on a mistranslation of the Latin word puer, which in the early 13th century described roving bands of the poor and not the young. The young shepherds Nicholas and Stephen de Cloyes were the leaders of what tragically failed Crusade?

ANSWER: Children’s Crusade(s)

TOSSUP 27
MATH

THIS IS A COMPUTATION QUESTION. What is the midpoint between (8, 22) and (32, 16)?

ANSWER: (20, 19)​
TOSSUP 28
LITERATURE

He wears an item that costs 10 shillings and 6 pence. He helps put the Dormouse into a teapot after using him as a cushion during his ‘unbirthday’ party, where the March Hare and Alice are the other guests. What character in Alice’s Adventures in Wonderland may have breathed too much mercury and wears distinctive headgear?

ANSWER: Mad Hatter
TOSSUP 29
MISCELLANEOUS

She said as a child she attended “52 bar mitzvahs and not a single quinceañera.” (keen-see-ahn-yair-uh) She played Ana Garcia, an East L.A. high school student and sweatshop worker, in Real Women Have Curves. She was also Carmen, an aspiring writer who magically fit into a pair of pants. What actress plays Betty Suarez (swah-rays)?

ANSWER: America Ferrera
TOSSUP 30
LITERATURE

He was martyred on October 13, AD 64, via upside-down crucifixion. He affirms his love for Jesus three times in the last chapter of John, making up for an earlier episode where he had denied Jesus three times. To whom did Jesus give the keys to heaven and earth saying, ‘Upon this rock I will build my church’?

ANSWER: Saint Peter the Apostle (also accept Simon Peter)

TOSSUP 31
SCIENCE

They weigh 150 grams each and are about ten centimeters long.  The right one is slightly lower than the left one and they are below the adrenal glands.  The study of them is called nephrology.  Name this bean-shaped organ pair that obtains blood from the renal artery and whose main function is to filter waste from blood.

ANSWER: kidney(s)

TOSSUP 32
MATH

THIS IS A COMPUTATION QUESTION. Convert 0.375 into a fraction of lowest terms.

ANSWER: 3/8
TOSSUP 33
SOCIAL STUDIES

Barbara West Dainton and Millvina Dean are its only two known living survivors; another survivor, Bruce Ismay, was branded the greatest coward in history. In 1994, the U.S. District Court for the Eastern District of Virginia awarded salvage rights; its North Atlantic ‘home’ was discovered in 1985. On April 15, 1912, what ship hit an iceberg?

ANSWER: RMS Titanic
TOSSUP 34
LANGUAGE ARTS

This word is a fast waltz banned in the 1930s by some French dance halls, due to the man putting his hands on the woman’s buttocks. ‘Write Once, Run Anywhere,’ was the slogan of a computer language with this name developed by Sun Microsystems. It is the most populous island in the world and contains Jakarta. What word is also a cup of coffee?

ANSWER: java
TOSSUP 35
SCIENCE

It is sometimes also known as Mariotte’s law and is named after a seventeenth-century Irish natural philosopher.  Robert Hooke may have helped to quantify this law that works for an ideal gas at a fixed temperature.  Name this gas law that states that pressure and volume are inversely proportional.

ANSWER: Boyle’s law

TOSSUP 36
MATH

What type of conic section is the equation, x squared plus y squared equals 144?

ANSWER: circle
TOSSUP 37
SOCIAL STUDIES

The US Senate approved this treaty by an 85-1 vote, but stated that the United States was not required to use its military to punish its violators. Hitler gave a nod to it, by claiming that Poland attacked Germany in August 1939. What treaty, named for the US Secretary of State and the French foreign minister, sought to abolish aggressive warfare?

ANSWER: Kellogg-Briand Pact or Pact of Paris

TOSSUP 38
SCIENCE

Its acid dissociation constant has a value of minus 1.7.  With water, it can form Zundel cations (cat-eye-awnz) and Eigen cations (cat-eye-awnz).  They can also form acid monohydrates.  Name this cation that is the simplest oxonium ion, has a molar mass of 19, and has molecular formula H3O.

ANSWER: hydronium
TOSSUP 39
LITERATURE

Eugène (uh-zhen) Vidocq (vee-dohk), a criminal turned policeman, was the inspiration for this novel’s protagonist. The unabridged version includes a discussion about argot fungus and a description of the Battle of Waterloo. What novel ends with a June 1832 uprising in Paris, and the death of its main character, Jean Valjean?

ANSWER: Les Misérables (lay mee-zay-rah-bluh)

TOSSUP 40
FINE ARTS

Oliver Cromwell outlawed it for being used to make ‘abused images.’ The red type uses gold and is thus ‘flashed’ over a clear core. Small pieces of it are made by mixing metallic salts with ordinary melted silica, and then are laid in a lead frame to create an image. What is this decorative material frequently used in church windows?

ANSWER: stained glass (accept ‘staining glass’ or equivalents)
Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
LANGUAGE ARTS

It was located between ‘F’ and ‘H’ in the original Latin alphabet and was eliminated when ‘G’ was introduced in the third century BC, returning when Greece was conquered. Shakespeare called it ‘Thou unnecessary letter!’ in King Lear, and later artists used it as a symbol for sleeping. What letter is currently at the alphabet’s end?

ANSWER: Z

BONUS 41
MATH

THIS IS A COMPUTATION QUESTION. Consider an angle of 35 degrees. Now:

1.
In degrees, what is this angle’s supplement?

ANSWER: 145 degrees
2.
How many arc-seconds are in this angle?


ANSWER: 126,000 arc-seconds

3.
In a lowest terms multiple of pi, what is this angle’s measure in radians?


ANSWER: 7/36pi (read as: seven-thirty sixths or seven over thirty-six)

4.
The sine of 35 degrees is 0.57 and the cosine of 35 degrees is 0.81. Remembering the formula for the sine of a double angle, to two decimal places, what is the sine of 70 degrees?


ANSWER: 0.9234 (sin 2x = 2 sin x cos x)

TOSSUP 42
MISCELLANEOUS

Capital Records released this song the day after Christmas in 1963. Brian Epstein had asked its performers to write a song with the American market in mind. Its B-side was ‘I Saw Her Standing There.’ The result was what song, the Beatles’ first #1 hit in the United States, where they want to ‘tell you something, I think you’ll understand’?

ANSWER: ‘I Wanna Hold Your Hand’

BONUS 42
SCIENCE

Identify these galaxies.

1.
The closest spiral galaxy to our own is what galaxy, about 2.5 million light-years away, which is on a collision course with the Milky Way?


ANSWER: Andromeda
2.
 What pair of galaxies, one ‘Large’ and the other ‘Small,’ is named for the first European that discovered them, doing so while sailing around the world?


ANSWER: Magellanic Cloud(s)

3.
Also known as M104, what galaxy gets its nickname from its unusual shape, which contains a bulge in its center? 


ANSWER: Sombrero 

4.
M-33 is another name of what galaxy, sometimes called the ‘Pinwheel Galaxy’?


ANSWER: Triangulum
TOSSUP 43
SCIENCE

His early models, the Victoria and the Velo, included his inventions such as the carburetor, gearshift, and spark plug. They were significant improvements over his Motorwagen, which is considered the first true automobile. In 1926, what man’s company merged with Daimler Motor Group?

ANSWER: Karl Benz
BONUS 43
MATH

THIS IS A COMPUTATION QUESTION. Take a fair pair of six-sided dice. Give answers in lowest terms fractions when asked for a chance. Now:

1.
What is the chance of rolling a 4? 


ANSWER: 1/12
2.
What is the chance of losing a dice game on the first roll with a 2, 3, or 12?


ANSWER: 1/9
3.
One of the dice is switched with a die that is loaded so that only 4 and 6 can come up. Now, what are the chances of rolling a 7?


ANSWER: 1/6
4.
It turns out the dice are made of a valuable gemstone that is worth $100,000 per cubic centimeter. Each die is a cube measuring 1.5 centimeters on each side. How much are the dice worth?


ANSWER: $675,000
TOSSUP 44
MATH

THIS IS A COMPUTATION QUESTION. What is 24 percent of 525?

ANSWER: 126
BONUS 44
SOCIAL STUDIES

Answer these questions about a scandal in the 1970s. 

1.
What scandal began when five men were arrested breaking into the Democratic National Committee’s headquarters on June 17, 1972? 


ANSWER: Watergate
2.
Bob Woodward and Carl Bernstein were working for what newspaper when they talked to ‘Deep Throat’? 


ANSWER: The Washington Post
3.
What man, now a conservative talk-show host, was the chief operative of the White House Plumbers and masterminded the first burglary?


ANSWER: G. Gordon Liddy
4.
What White House Counsel turned from co-conspirator to star witness for the prosecution?


ANSWER: John Dean
TOSSUP 45
SCIENCE

It is not radioactive, has a spin of one, and a natural abundance of one in 6500 atoms of its element.  Harold Urey won the 1934 Nobel Prize in chemistry for its 1931 discovery.  Consisting of one proton, one neutron, and one electron, what is this ingredient of heavy water, an isotope of hydrogen?

ANSWER: deuterium
BONUS 45
LITERATURE

Identify these figures from the book of Genesis.

1.
What son of Jacob was given a coat of many colors, and was then sold into slavery by his brothers?


ANSWER: Joseph
2.
What man and his two daughters were the only survivors of the destruction of Sodom – his wife was turned into a pillar of salt?


ANSWER: Lot

3.
Laban tricked Jacob by making him first marry what older sister of Rachel?


ANSWER: Leah
4.
Ishmael was the son of Abraham and what slave of Abraham’s wife Sarah?


ANSWER: Hagar
TOSSUP 46
LITERATURE

He dated Florence Bacombe, who dumped him for Bram Stoker. He married Constance Lloyd, and had sons, Cyril and Vyvyan (vye-vee-un). An affair with the Marquess of Queensbury’s son, Alfred Douglas, led to two years at Reading (red-ding) Gaol (jail). This was the love life of what author of The Picture of Dorian Gray?

ANSWER: Oscar Wilde
BONUS 46
SCIENCE

Consider the equation e=mc2. Now:

1.
What does the ‘c’ in that equation stand for? 


ANSWER: the speed of light or celeritas
2.
E stands for energy. What unit is the energy in this formula measured in?


ANSWER: joule(s)

3.
To the nearest million, how many meters per second is the speed of light?


ANSWER: 300 million
4.
Albert Einstein proposed the equation in 1905, a year where he also explained what effect where electrons are emitted after light hits an object? 


ANSWER: photoelectric effect

TOSSUP 47
SOCIAL STUDIES

The one in Connecticut contains Stamford and Greenwich. The one in Alaska contains Juneau. The one in Texas contains Amarillo. The one in Florida contains Pensacola. The one in Oklahoma doesn’t really contain much. The Eastern one in West Virginia contains Martinsburg, and the Northern one contains Wheeling. What ‘extensions’ of a state are named for their shape resembling a cooking container?

ANSWER: panhandle(s)

BONUS 47
LITERATURE

Identify these characters from The Adventures of Huckleberry Finn. 
1.
Who is Miss Watson’s slave that joins Huck for a trip down the Mississippi?


ANSWER: Jim

2.
Who, along with her sister, Miss Watson, is attempting to ‘sivilize’ Huck?


ANSWER: the Widow Douglas
3.
Who is Tom’s aunt that tries to ‘sivilize’ Huck by the end of the novel?


ANSWER: Sally Phelps

4.
Who died and left a rich estate; the Duke and the Dauphin pretend to be his brothers from England?


ANSWER: Peter Wilks
TOSSUP 48
MATH

THIS IS A COMPUTATION QUESTION. What percent of 840 is 268.8?

ANSWER: 32 percent

BONUS 48
FINE ARTS

Answer these questions about Ludwig von Beethoven.

1.
What was his only opera?


ANSWER: Fidelio
2.
Which of his symphonies is known as the ‘Eroica’ (ee-roy-kuh)?


ANSWER: the 3rd
3.
Beethoven thought his finest work was what work that included a Kyrie (kee-ree-ay), Gloria, and Credo; as the name implies, it is a serious work.


ANSWER: Missa Solemnis or Solemn Mass (prompt on ‘Mass’) 

4.
Beethoven suffered from what disorder, a ‘ringing’ sound in his ears, which eventually led to his deafness?


ANSWER: tinnitus 

TOSSUP 49
LITERATURE

He was succeeded as king of Elis by his son Phyleus. He was killed after refusing to pay one-tenth of his wealth for a day’s work, claiming instead that the rivers Alpheus and Peneus had done the work. Who had the most cattle in Greece, and thus the most cattle waste, requiring the cleaning of his stables by Heracles?

ANSWER: Augeas (ow-jee-us)

BONUS 49
SOCIAL STUDIES

Identify these counties in Missouri from their largest cities (Moderator: drop the one of these five you think is too easy for the teams playing. E.G. two teams around St. Louis would drop the O’Fallon question.)

1.
O’Fallon.

ANSWER: St. Charles County

2.
Springfield.

ANSWER: Greene County

3.
Columbia.

ANSWER: Boone County

4.
Kirksville.

ANSWER: Adair County

5.
St. Joseph.

ANSWER: Buchanan County

TOSSUP 50
SOCIAL STUDIES

He called his kingdom Te-na-ko-ma-kah, established a capital at We-ro-wo-co-mo-co, and is known today by one of his titles. When his brother O-pe-chan-ca-nough became chief, the Massacre of 1622 was the result. Wa-hun-sa-cock was the given name of what Native American leader that ruled over eastern Virginia at the time of the Jamestown landing, and was the father of Pocahantas?

ANSWER: Chief Powhatan (or Wahunsacock before it is said)

BONUS 50
MISCELLANEOUS

Identify these 1960s singers.

1.
‘It’s Not Unusual’ and ‘She’s a Lady’ are songs by what Welshman?


ANSWER: Tom Jones Woodward

2.
She sang ‘These Boots are Made for Walking’ on her own and sang ‘Something Stupid’ with her more famous father, Frank.


ANSWER: Nancy Sinatra (prompt on ‘Sinatra’)

3.
Who performed the songs ‘What I’d Say’ and ‘Hit the Road Jack’? 


ANSWER: Ray Charles
4.
He died before his hit, ‘Sittin’ on the Dock of the Bay’ made #1 on the Billboard charts.


ANSWER: Otis Redding
END OF MATCH

Spare questions
TOSSUP 51
MATH

THIS IS A COMPUTATION QUESTION. What is i to the 147th power, recalling that i to the n equals 1 if n is divisible by 4, equals i if the remainder when divided by 4 is 1, equals –1 if the remainder is 2, and equals –i if the remainder is 3?

ANSWER: -i
BONUS 51
LITERATURE

Given a work of French literature, name the author.

1.
The Hunchback of Notre-Dame.


ANSWER: Victor Hugo
2.
The Count of Monte Cristo.

ANSWER: Alexandre Dumas, père  

3.
The short story, ‘The Necklace.’





ANSWER: Guy de Maupassant
4.
The poetry collection, Les Fleurs de mal or The Flowers of Evil. 


ANSWER: Charles Baudelaire
TOSSUP 52
FINE ARTS

The model, probably Jonathan Buttall, is wearing clothes that are a century out of date, and is standing while holding a black hat with a white feather in his right hand. However, his shirt and pants are another color, the opposite of red, in what ‘colorful’ Thomas Gainsborough painting?

ANSWER: The Blue Boy
BONUS 52
SCIENCE

Identify these genetic disorders. 

1.
Trisomy of chromosome 21 causes what genetic disorder whose effects include mild retardation and characteristic skin folds at the corner of the eyes?


ANSWER: Down syndrome (accept Down’s)

2.
Daltonism is another name for what disorder where the cone cells of the eyes are damaged or even not present.


ANSWER: color blindness or dyschromatopsia (dis-kroh-mah-top-see-uh)

3.
Excessive gangliosides accumulate in the brain cells of people with this disease common among Eastern European Jews.


ANSWER: Tay-Sachs
4.
A male with XXY sex chromosomes has what disorder?


ANSWER: Klinefelter’s syndrome

TOSSUP 53
MISCELLANEOUS

Until 1954, this road sign was yellow with black lettering. Its unique shape was designed so that driving facing its back can still know what sign it is. In Israel, this road sign has a white hand on a red background instead of words. A red octagon with white lettering is what road sign at which drivers must cease motion?

ANSWER: stop sign

BONUS 53
MISCELLANEOUS

Answer these questions about an unstable region of the world.

1.
In October 2007, the House voted on a resolution condemning the Ottoman Empire for genocide committed against what people during World War I?


ANSWER: Armenian(s)

2.
What group, whose name means ‘Party of God,’ periodically threatens to cause the downfall of the Lebanese government?


ANSWER: Hizbullah
3.
The PKK is a terrorist group whose stated aim is an independent country for what people? 


ANSWER: the Kurd(s) or Kurdish
4.
Who is the current President of Syria?


ANSWER: Bashar al-Assad
TOSSUP 54
LANGUAGE ARTS

It is the name of a United Kingdom newspaper, edited by Alan Rusbringer, known for its left-wing stances. A ‘legal’ one is someone responsible for a ward, such as an incompetent or a minor. What term applies to a figure considered equal to a parent? 


ANSWER: guardian
BONUS 54
FINE ARTS

Identify these silent films.

1.
The M-Machine and Heart Machine power the futuristic city in what Fritz Lang classic?


ANSWER: Metropolis
2.
Theda Bara starred as the titular queen in this 1917 movie, now mostly lost. 


ANSWER: Cleopatra
3.
This 1915 D.W. Griffith movie is set before, during, and after the Civil War, and has come under fire for its glorification of the Ku Klux Klan.


ANSWER: The Birth of a Nation
4.
John McTeague is an honest dentist whose wife wins the lottery and whose life then falls apart in this Erich von Stroheim film about avarice. 


ANSWER: Greed
TOSSUP 55
LITERATURE

Bertha Flowers helps this book’s protagonist overcome being raped by Mr. Freeman. Most of it is about racism in Stamps, Arkansas. The book gets its title from Paul Laurence Dunbar’s poem ‘Sympathy.’ The first of a series that includes All God’s Children Need Traveling Shoes is what autobiography by Maya Angelou?

ANSWER: I Know Why the Caged Bird Sings
BONUS 55
LANGUAGE ARTS

Write down the sentence, ‘The quick, brown fox jumped over the lazy, gray dog.’  

1.
What is the object of the prepositional phrase in that sentence?


ANSWER: dog
2.
Counting determiners as adjectives, how many adjectives are in that sentence?


ANSWER: six (don’t forget the articles!)

3.
What type of verb is ‘jumped’ in this sentence, a verb that can not take a direct object?


ANSWER: intransitive
4.
This sentence is a pangram. What is the distinctive feature of a pangram?


ANSWER: it includes every letter of the alphabet (accept clear equivalents like ‘It has all the letters.’)

TOSSUP 56
SOCIAL STUDIES

The formal title of this political commercial was ‘Prouder, Stronger, Better.’ It proclaimed that with ‘inflation at less than of half of what it was just four years ago’ and ‘interest rates at about half the record highs of 1980,’ things were bright and sunny. What 1984 Reagan re-election ad referred to this nation and a part of the day?

ANSWER: ‘It’s Morning again in America’

BONUS 56
SOCIAL STUDIES

The year is 1865. Identify these world leaders at that time:

1.
She was Queen of the United Kingdom.


ANSWER: Victoria
2.
He was the Russian tsar, ruling until he was assassinated in 1881.


ANSWER: Alexander II
3.
He was ruling the Empire of Brazil. 


ANSWER: Pedro II
4.
He ruled Austria-Hungary between 1848 and 1916.


ANSWER: Franz Josef I (or Francis Joseph I)

TOSSUP 57
SCIENCE

Types of it include primary progressive, secondary progressive, progressive relapsing, and relapsing-remitting.  Medications for it include interferon and Copaxone.  Symptoms include visual problems and muscle weakness.  It destroys myelin around neurons.  Name this disease of the central nervous system that Josiah Bartlett had on The West Wing.

ANSWER: MS or multiple sclerosis
BONUS 57
MATH

THIS IS A COMPUTATION QUESTION. Consider the numbers 36 and 68. Now:

1.
What is their product?



ANSWER: 2,448
2.
What is their greatest common divisor?
ANSWER: four
3.
To the nearest thousandth, what is 36 divided by 68?


ANSWER: 0.529
4.
All or nothing: Name any four prime numbers between these two numbers.


ANSWER: (any four of) 37, 41, 43, 47, 53, 59, 61, 67
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